NEISEE RSN FER SRS S 4 RUIOEES . A0

B 55 oz SR EE A Bl | AR FARE (109. 5.18;ii£§’ F L B)
| HO# KT H Ay F R B RE 1 10, 000] i % 4, 950
2 X Ol LER i Al dE BEgiak 3F B I PGE 1 10,000 :d:E 4, 950
3 X Ol R E AR Bl i sigd R 1 10, 000] i 4, 950
4 IO% NS AP GYROTONIC 1 10,000 :d:E 4, 950
5} % O NS AP GYROTONIC 1 10, 000] i 4, 950
6 = Oi%"— NS AP GYROTONIC 1 10,000 :d:E 4, 950
7 520 % ok GYROTONIC 1 10, 000] i 4, 950
8 HO% . A GYROTONIC 1 10,000 :d:E 4, 950
9 7 Opr - hITAETR AR | 10, 000| i 4, 950
10 +OF 2 ik hEAETE AR 1 10,000 :d:E 4, 950
11 HOw=2 2 iRk hITAETR AR 1 10, 000] i 4, 950
12 +OF 2 Rk hFETEAR 1 10,000 :d:E 4, 950
13 Ok . I paFEaet 2%k N2 2 6,000] :ii:F 2,970
14 FOid E Lk b S 2 6,000 if:E 2,970
15 7 Opr EE = AR A R 2 6,000] :if:F 2,970
16 O A 2 Rk b S 2 6,000 if:E 2,970
17 OB 2 iRk = AR A R 2 6,000] :if:F 2,970
18 O+ EE e S 2 6,000 if:E 2,970
19 5% O % 2 iRk = AR A R 2 6,000] :i:F 2,970
20 EOH 2 Rk b S 2 6,000 if:E 2,970
21 17 O 2 iRk = AR A R 2 6,000] :if:F 2,970
22 & (O 2 ki b S 2 6,000 if:E 2,970
23 HOF 2 iRk = AR A R 2 6,000] :if:F 2,970
24 0% 2 Rk b S 2 6,000 if:f 2,970
95 2 0m |+ ki ETAFH AR 2 6,000 i 2,970
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23 Wt o B LA sl | HP AT |FEBY| 0 5'18?11 f;ﬁ )
26 L0 |2 ik EEAT AR 2 6,000 ii:® 2,970
27 o B EEY EFAFH AR 2 6,000 ii:s 2,970
28 #O Ry EEAT AR 2 6,000 ii:® 2,970
29 3OF  [® ik EFAFH AR 2 6,000 i:5 2,970
30 O |2 ki EEAT AR 2 6,000 iii® 2,970
31 MO |~ k) EFAFH AR 2 6,000 ii:s 2,970
32 mO%E  |* ki EEAT AR 2 6,000 iii® 2,970
33 £0m |+ 4 EEAT AR 2 6,000 ii:s 2,970
34 RO |* &k EEAT AR 2 6,000 iii® 2,970
35 S Y EFAFH AR 2 6,000 i:5 2,970
36 wOZ |2 EFE LR 2 6,000 iii® 2,970
37 RO 8% g5 4R 2 6,000 i:5 2,970
38 rOT |e ki THPE AR 2 6,000 i@ 2,970
39 EOF |2k FHSAR 2 6,000 ii:s 2,970
40 BOR |2k THS AR 2 6,000 i % 2, 970
41 FO®. |2 ki FHSAR 2 6,000 i:5 2,970
42 0w |+ ki TESA R 2 6,000 i@ 2,970
43 10%  |v i FHSAR 2 6,000 i:5 2,970
44 e Y TESA R 2 6,000 ii:® 2,970
45 L0 |k FHBAR 2 6,000 i:5 2,970
46 e Y TESA R 2 6,000 ii:® 2,970
A7 e EEY FHSAR 2 6,000 i:% 2,970
48 20%  |* ik THEAR 2 6,000 iii® 2,970
49 #O %tk FHSAR 2 6,000 ii:s 2,970
50 HO® | ki TESA R 2 6,000 ii:® 2,970
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Al wr s 2 LA st | armagr |gae| oo SRR e
51 HO# < iRk EFESAR 2 6,000| :ifif 2,970
52 F O 2 Rk EZEEAR 2 6,000| :ifiF 2,970
53 W AO= < iRk X EAR 2 6,000| :ifif 2,970
54 + OF 2 Rk EZEEAR 2 6,000| :ifiF 2,970
55 B OrF < iRk EFESAR 2 6,000| :ifiF 2,970
56 MmO% < ik TFEwd 2 6,000] :ifiF 2,970
57 *O¥w MYk Open Water Diver 3 3,000 i 1, 485
58 EO% Tk Open Water Diver 3 3,000| B 1,485
59 O MYk Open Water Diver 3 3,000 i 1,485
60 #O% MYk Open Water Diver 3 3,000] :i:iF 1,485
61 wOW |24k Open Water Diver 3 3,000 i 1,485
62 WOFF Rk Open Water Diver 3 3,000 :ifiF 1,485
63 O 2 Rk Open Water Diver 3 3,000 i 1,485
64 (O L I Open Water Diver 3 3,000] :i:iF 1,485
65 4 O% BTk Open Water Diver 3 3,000 @B 1,485
66 O % L I Open Water Diver 3 3,000] :i:iF 1,485
67 wO/ [T Open Water Diver 3 3,000 i 1,485
68 O MYk Open Water Diver 3 3,000] :i:iF 1,485
69 MmO % MYk Open Water Diver 3 3,000 i 1,485
70 ¥ O#t L I Open Water Diver 3 3,000] :i:iF 1,485
71 HO2 MYk Open Water Diver 3 3,000] iiF 1,485
2 2O L I Open Water Diver 3 3,000] :i:iF 1,485
73 MO 2 iRk Open Water Diver 3 3,000 i 1,485
14 O FEc g g (pB) 3 3,000] :ifiF 1,485
15 % O Tt g (p%) 3 3,000] :ifif 1,485
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AL EST) FX

G I o R A il Bl Lk T EATP by
76 w0 | EAGES 3 3,000 ik 1, 485
77 20z =2 & EAGES) 3 3,000] B 1,485
78 O R AL ENGES 3 3,000| if:iE 1,485
79 O AL - NGES 3 3,000] :i:ig 1,485
80 INOLINL Tt g (fa) 3 3,000) i 1, 485
81 @K ALk t® (fk&) 3 3,000 ::® 1,485
82 B (O AL i ENGES 3 3,000| if:iE 1,485
83 201 AL -GS 3 3,000 ifiF 1,485
84 36 (O % RFt ENGES 3 3,000] i 1,485
85 w04 [T k% pacd B 3 3,000] i 1, 485
86 O IL ki kb % 244 B 3 3,000[ i 1,485
87 PO%  |FTF N EICED) 3 3,000] il i 1,485
88 FOR Tk T4 T () 3 3,000 3% 1, 485
89 HO% o e T (M) 3 3,000| i 1,485
90 H#0O7F ok A= g B B EMT-1 3 3,000 B 1,485
91 MmO % L A A e ek ok | EMT-1 3 3,000 ::® 1,485
92 7O Tk A= g B B EMT-1 3 3,000] B 1,485
93 wO® s ¥ & w4 AR (8- &) 3 3,000 if:iF 1,485
94 = O T w2 4B (H- &) 3 3,000| i 1,485
95 R Qu £ ¥ & w4 AR (8- &) 3 3,000| if:iE 1,485
06 £ O T w2 AR (H- &) 3 3,000 8 1,485
97 @) % ¥k w4 AR (8- &) 3 3,000| if:iE 1,485
98 20 T w2 AR (H- &) 3 3,000 ifiE 1,485
99 i Ok ¥ & w4 AR (H- &) 3 3,000] i 1,485
100 mO R %5 5 & w2 4B (H- &) 3 3,000| i 1,485
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e 1t T R A wle | AEER FAESE 5.18?j11£§’ 3 ki i8)
101 HO% %%k i AR (8- &) 3 3,000 i 1, 485
102 | #0f  [# 5k w2 LR (M- %) 3 3,000 & 1,485
103 Y Om | # % A AR (H - &) 3 3,000 B 1, 485
104 MO% | =% it R (8- ) 3 3,000 ii:§ 1, 485
105 O/ |# 3k w2 4R (H - 5) 3 3,000] i 1,48
106 P O% %54 wA AR (H - ) 3 3,000 ifi 1, 485
107 | 208  [Fii R% & F e 3 3, 000] €<% L 48
108 | 50m |2%4 G (%) 3 3,000 €& 1,485
109 | mO®E  |* ks G5 BL(F =) 3 3,000 & 1,485
110 | #0%= |~%: o GES 3 3,000 i 1, 485
1l | 30® |54 T IRAGES 3 3,000 il & 1, 485
112 | 2Ok |#7%% BEE B TLET OB % PRAY) 3 3, 000] €& L 485
13 | mO® |su#n Cin by ¢ ﬁmﬁ 1 1,000 :i§ 49
114 2O w7 i Clmirody e RGE 4 1, 000] <& 1%
115 HOR [+ C o by $e 9GE 4 1,000] <& 15
116 MO T 4 Cisfi o & £ 2| 4 1,000) i 495
17 | #0% (w7 Comg P I HM 1 1,000] i :# 195
118 Oy |wT Coad £ RFRE 4 1,000 & 495
19| %02 |snsz Cont £ 3 RI AR 1 1,000 :i§ 49
120 £Ox |y i Com b 4 R 4 1,000 i 495
121 | #OF  |w7 O i R 4 1,000] % 495
1929 mO% W7 Cogl it T B F KRG 4 1,000 i 495
123 | #OF |wv Co TR 1 1,000] i :# 195
124 | mO#E  [w7 i Cgs 23 4 1,000] i:i§ 495
125 | §Om  |w74 Cis § 3 Feitst 1 1,000] 4% 495
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B ol A R A Al | AR I FAEE| (0 18;2 b £ 3R
126 SO® [Tk Cim Tk #c 4 1,000 :i:% 495
127 ROE w7 Com @ TR I RE 1 1,000 :iF 195
128 »O# (w7 B A KRR 4 1,000 :i:% 495
129 20% |+ ik B B FORE 4 1,000 i i 495
130 O [T B A KRR 4 1,000 :i:% 495
131 0% |w7 B B FORE 4 1,000 i i 495
132 £10 % BT B A KRR 4 1,000 :i:% 495
133 BOF |7 i B B FORE 4 1,000 i i 495
134 #Ofb [T B A KRR 4 1,000 :i:% 495
135 Q8 [T B B FORE 4 1,000 i i 495
136 2OR  |E@gm B A KRR 4 1,000 :i:% 495
137 RO @RS B B FORE 4 1,000 i i 495
138 0% |+ ki VUi RbAE BILE 4 1,000 :i:% 495
139 FOF |7 P o2 B 1 1,000 i i 495
140 EO [T LA # 4 1,000 :i:% 495
141 202 |wT ERE® 4 1,000 i i 495
142 £02  |wT i LR # 4 1,000 :i:% 495
143 O |#T ¥ i hERE 4 1,000 i i 495
144 TOF (W74 Wt i hEEE 4 1,000 :i:% 495
145 £10% (W7 Bt i hER s 4 1,000 i 495
146 #HOZE w7 i Bt i hER 4 1,000 :i:% 495
147 MmO |wT fc4 R 4 1,000 i i 495
148 *xO% |17 fcd R 4 1,000 :i:% 495
149 e L fc4 R 4 1,000 i i 495
150 =0 T fc4 BB 4 1,000 :i:% 495
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S o 2P g st | armagr |gae| oo SRR e
151 £02  |w7 i $e2 B 4 1,000 s 495
152 £O%  |mT i fcd i 4 1,000] i % 495
153 HOR [T w2t i 4 1,000 s 495
154 £10% (w4 $c4 B 4 1,000] i % 495
155 10O® |87 PR 4 1,000 ifi® 495
156 wQi T 2 HAPPAZRN % 4 B 4 1,000] i % 495
157 10k |srsse 2 HAPPAZSY % 4 B 4 1,000 & 495
158 #0n  |ersm 2 HAPPAZLN % 4 B 4 1,000] i % 495
159 EOF |$784m 2 HAPPAZS B * 4 B 4 1,000 s 495
160 #OF B EE 2 HAPPAES B AR LR 4 1,000] % 495
161 102 |#rss 2 APPAZ L B * 4 R 4 1,000 s 495
162 $08  |[w7 S E R R 4 1,000] i % 495
163 710% |87 4 Sl ER L R ® 4 1,000 s 495
164 #OE w7 i SR L ER R R 4 1,000 :i§ 495
165 503 (w7 4 gt R 4 1,000 s 495




